The determinant of square matrix is real number, computed using all the
entries of the matrix. Every square matrix has one. In many ways they
classify or determine the geometry and the solutions associated matrix
equations.

Know how to compute determinants of 2x2 and 3x3 matrices by hand. Higher
dimensional matrix determinants are calculated similarly. (Every entry gets used, and
the det is formed by alternating sums of elementary products
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“ If the rows (or columns) of a matrix are linearly
dependent, the determinant of the matrix is zero.
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{ ) see examples above
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Examples: The identity matrix, 2x2 rotation matrix
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Notes about det(M)

n
1. How do elementary row ops affect det? \ \Q.V\\ = k \M‘

2. What do a row of zeros do to det? \.\
3. How does det(M) control if M is invertible? =D M(M\ =y =H M _ ) vt{,
4. What is det(AB)? invevhble
5. What if det(ABAN{-1}) = 0 and A is invertible? m' BE.
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